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극미세영문법 
[16-1] 컨닝페이퍼

1. 능동태가 무엇인지를 설명 하시요

    ____________________________________________________________
    ____________________________________________________________

2. 다음 괄호 속에 어법상 적절한 것을 고르시오    
    ① I [like / am liked] winter.
       _____________________

    ② She [was broken / broke] the window.
       _____________________

    ③ He [was kicked / kicked] the ball.
       _____________________

    ④ They [were given / gave] me many gifts yesterday.
       _____________________

    ⑤ You [are called / call] me every day. 
       _____________________
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3. 수동태가 무엇인지를 설명 하시요
    _____________________________________________________
    _____________________________________________________

4. 다음 괄호 속의 어법상 적절한 것을 고르시오.
    ① Winter [likes/ is liked] by me.
       _______________________
    ② The window [broke/ was broken] by her.
       _______________________
    ③ The ball [kicked/ was kicked] by him.
       _______________________
    ④ I [gave/ was given] many gifts by them yesterday.
       _______________________

    ⑤ I [called/ am called] every day by you.
       _______________________
 
5. 다음 문장들이 능동태인지 수동태인지를 표시하시오.
    ① English is spoken in Australia.
       _______________

    ② The museum was built in 1960.
       _______________

    ③ We can’t buy happiness.
        _______________

    ④ Vera Wang designed this dress.
       _______________

    ⑤ He took care of the baby.
       _______________
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1. [정답]
    동작의 행위자가 주어 자리에 오는 구조를 말하며
   , 행위를 하는 주체에 초점을 두어 “(주어가) ~를 한다(행하다)”로 해석이 된다.

2. [정답]
   ① like      ② broke     ③ kicked     ④ gave     ⑤ call

3. [정답] 
    행위를 하는 주체가 아니라 행위를 당한 “대상”이 주어 자리에 오는 경우를 말한다. 
    해석은 “(주어가) ~ 당하다(되어 지다)” 이다.
    문장 구조는 "be동사 + 과거분사(PP)" 또는 "get + PP"이다.
    주로 상태를 나타내는 수동태는 “be+PP”이고 동작을 나타내는 수동태는 “get + PP”이다.

4. [정답]
    ① is liked 
    ② was broken 
    ③ was kicked 
    ④ was given 
    ⑤ am called

5. [정답]
    ① 수동태 
    ② 수동태
    ③ 능동태
    ④ 능동태
    ⑤ 능동태
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